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Candidate should read carefully the instructions in the Question Booklet and OMR Answer
Sheet before start answering.
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Immediately after the commencement of the examination, candidate should check that this
Question Booklet does not have any unprinted or torn or missing pages or items, etc. If so,
get it replaced by a proper Question Booklet.

Y910 80 WA AT e TA-GRERT ¥ UReT AN Seaki & WY atdfass Yo & &, fS1ets & haet
Teh Socl TGS T & FET g1l

The question paper is in the form of a Question Booklet with 80 questions. Questions are of
objective type with four answers indicated, of which only one is unambiguously correct.
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Use only Ball Point Pen (Black or Blue) for writing/ bubbling on OMR sheet. Enter all required
details and select the right answer by marking the corresponding oval on the OMR sheet as
per the instructions given in the OMR sheet.
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Question Booklet series code (A/B/C/D/E) printed on the right hand top corner is mandatory
to be written on the OMR sheet in the box and bubble appropriately. Failing which, the
answer sheet will not be evaluated.
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Each correct answer will carry three (+3) marks; Zero (0) for no answer and minus
one (-1) for a wrong answer.

T ofY w2t & TorT & el sl 9 O 3ecil Tl HT=AT ST

Multiple answers for a question will be regarded as a wrong answer.

INTAN 2 7 earAgdes fored | HfaRad 3fwasi efie yere =7t i S|

Marking in OMR must be done with utmost care. No spare OMR sheet will be provided.
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Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.
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(TS
"Space available in the Question Booklet can be used for rough work, if required. No separate

sheet will be provided.
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Candidate are not permitted to leave the Examination Hall during the first one hour of the
examination.
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Candidate should hand over the following to the invigilator when asked: (i) Hall-Ticket (ii)
Original OMR sheet (copy of the OMR sheet to be retained by the candidate).
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Questions

o) 39T A AR

a) Stel & g fafrse ssorar
b) STe &I gl ISUTAT o7 I[UTIeh
¢) TRl ST 3SUTAT 3R 0T [Tieh

G

300° C TR TRl ToTel I &1 Uaherdd 30 ° C U1l 81 ST ST § , a8 70 Yehs # 150°C cfeh o318 Sirell &1
3 300 ° C ¥ R FTATT 9T T E 9197 Fhar sirar & 31 uehest & 30°C §aT 3 200 Hehs 9Y 150°C dh
SeT e ST &1 30 &2 Bley & Ty & 3{aT T ST §:

a) e afegr

c) Er3mset afesar
d) T3S afeger

J-w@Ta A9 slaele &1 3UTeT T ST &

b) 31T i Afesa

galf=iy arg 3mmepfl &

a) 10/m
h) 5/m
¢) 1/2n
d) 20/m

fiig T &1 géat 3 worell & et o Tarenias angfa &

T &t f@siatt & dter 100 fererm st

SOONINNNNN

a)2
b)-2
c)1/2
d) 2/3

YET 2x=y+3 T SATA &

M 24 x 2 GleC &1 3TRT &

a) 912 aT o 24 Teft s o 2 TR
b) 913 T 3TTWE-3FTIaT &7 24 el &
o) Slee & QT s 24 P 3k R 2 AT
d) aee &1 gHIdY sard 24 Tl i i de 2 95§

a}?-ﬂFéTT:%‘m‘UT

C) CATSHT ST e
d) g @At

geTet Y Fslr ShEs areT #efe uisha aar sgardl &2:

b) g fagstar affer

2) GHATT HEHR
b) FAHT HFEHT
¢) arEafae 3ER

| T 2B 3erty T 31 vt VAT s AT e e &

| i itegar
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Questions

This difference in cooling time is due to:

Larger specific heat of water

Larger heat transfer coefficient of water
Smaller heat transfer coefficient of water
d) None of the above

a)
b)
c)

A thin copper wire at 300 ° C is suddenly immersed in water at 30 ° C. It cools down
to 150 ° C in 70 seconds. It is then reheated to the initial temperature of 300 ° C and
suddenly exposed to air at 30 ° C where it cools down to 150 ° C in 200 seconds.

The non-consumable electrode is used in:

a) Laser welding

b) lon beam welding
c) TIG welding

d) MIG welding

The natural frequency of vibration of the system in Hz is

10
5/

1/2m
d) 20/T

a)
b)
c)

A mass of 100 kg is held between two springs as shown in figure.

NN

20 kN/m

20 kN/m

RN

Slope of line 2x=y+3 is

2
-2

112
d) 2/3

a)
b)
c)

Bolt of M 24 x 2 means that:

The pitch of the thread is 24 mm and depth is 2 mm
Cross-sectional area of the threads is 24 mm?

a)
b)
¢) The nominal diameter of bolt is 24 mm and pitch is 2 mm

d) The effective diameter of bolt is 24 mm and there are 2 threads per cm.

a) Additive manufacturing

h) Electrical discharge machining
c¢) Plasma cuiting

d) Chip thinning

The machining process that adds rather than removes materials is called:

a) Nominal size
| b) Basic size
“ c) Actual size
|d) Tolerance

Technical Assistant

The difference between the upper limit and lower limit of a dimension is called:
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a) 3TARYUT HIGTh T 3 I[EAT
b) 3TARYOT ATGT &7 4 T[T
¢} FUERIOT ATYTF & HHFET
d) iR 787 R s wsar

9 el SO $8 TN 7 O 8T et o flw vy et et waver fawar Sirelr §?

a) Extrude
b) Rotate
c) Blend

d) 39ed A A RIS ACT

10 mﬂqﬁmﬁwm%mmﬁﬁ:

a) ¥ qraaET=T & forad Gaer.

b) ATeeo® veufd @ 3 faaRa &

¢) fafee argamst o fafiest foreee sraae=r
d) 3 3 &1 oft

1 (-2.5,3.4) UF (-4.4 &5.5) fagair & afrer glr ¢

a) 9.1
b) 8.35
c)0.91
d) 7.5

12 | 2faar &7 qare 500 ki F7gT #aT & 31K 100° € H 200° € ek ATTATeT IREcd & ST 1 54 Fihar & g
el < st fafdree seorar g,

a) 5 ki/(kg K)
b) 2.5 kl/(kg K)
¢) 10 kI/{kg K)
d) 25 kI/(kg K)

13
gerdt wdw ety (] (0)

a) uleg yara
b) Felrar alor ety
€ T2 ShIIT HETT
d) o gara

December, 20186
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8 [f Poisson's ratio for a material is 0.5, then the elastic modulus for the material is
a) 3 times its shear modulus
b) 4 times its shear modulus
c) Equal to its shear modulus
d) Indeterminate
9 Which command can be used to draw Torus in any parametric CAD software?
a) Extrude
b) Rotate
¢) Blend
d) None of the above
10 A material is said to be allotropic if it has:
a) Fixed structure at all temperatures.
b) Atoms distributed in random pattern.
c) Different crystal structures at different temperatures.
d) Any of the above.
11 Distance between the points (-2.5,3.4) & (-4.4 &-5.5) is:
a) 9.1
by 8.35
c) 0.91
d) 7.5
12 2kg of substance receives 500 kJ and undergoes a temperature change from 100° C
to 200° C. The average specific heat of substance during the process will be,
a) 5 kJ/(kg K)
b) 2.5 kJ/(kg K)
c) 10 kd/(kg K)
3 d) 25 kJ/(kg K) B - |
13
Symbol [j@ in a drawing represents.
a)Perspective projection
| b)Third angle projection
c) First angle projection
d) Ohligue projection

Technical Assistant
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14

T T Y U T & foyehecl! et ) el Ol TR TRy 2Bl AfIRYer Vet et aTel aitel qared 3 qured
I FEd b '

a) eIl

b) 81 i
c) iRehca

d) wdhgaar

15

330° f2eft shoT AT IRT H WY o1 gl

a) 2n
b) /6
c)111/6
d) 2 /6

16

e SYET €T 3 kNm 35 a7eT &TOT 3T 4 kiNm 3 7Y 10T a1 U 12 ST X Hebel €, o] Hfehera7 e
fepetef) &Y wehell &2

a) 7 kNm

b) 3.5 kNm
c) 4.5 kNm
d) 5.0 kNm

17

31S AL Teyfd T U ... o1 el S19TTe) 3 fore fomam 1Tl 21

a) AFURT ey
b) HAE AW
) MEAT
d) 3T TEday

18

Fo E!JE SHUTd ﬁﬂaaﬁé Bl el e S [T 3794 éETFTEﬂT*ﬁQ TR

ARGIIEE
b) €T
o e
d) et

|19

arsg TefigeT weh &, {hoie i 3raear Haed ale grarg:

3) T & ATETA G IO & 9T6.

b) HEfer 7 W IE & TEe.

) FrEa 3ruar Yied died 1 W e & 51
d) faear afed 77 & o & Tge.
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The property of a liquid which offers resistance to the movement of one layer of
liquid over another adjacent layer of liquid is called:

a) Viscosity
b) Surface Tension
¢) Capillarity
d) Compressibility

15

Transform of 330° angle in degree measures to that in radian measures will be

a) 2m

b) /6

c) 11 /6
d) 2 /6

16

A solid shaft can resist a bending moment of 3 kNm and a twisting moment of 4 kNm
together, then the maximum torque that can be applied is:

a) 7 kNm
b) 3.5 kNm
c) 4.5 kNm
d) 5.0 kNm

17

Dye penetration method is used to locate:

a) Temporary defects
b) Surface Defects

c) Core defects

d) Sub surface defects

18

In order to gain toughness in hardened steel, the process usually adopted is:

a) Annealing
h) Tempering
¢) Quenching
d) Carburising

19

In Vapour compression cycle, the condition of refrigerant is saturated liquid:

a) After passing through the condenser.

b) Before passing through the condenser.

) After passing through the expansion or throttle valve.
d) Before entering the expansion valve.

Technical Assistant ¢ DNecernber, 2018
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T B ofd M ETel &

a) LGTAT & ST

b) weTde & BT

¢) GESIT dATd o HIRT

d) TGS eard & ST

21

fim 23071 =aR e
x=3x°=Tx+1C

a)-3/8¢%
by 0F

)-1/8%
d)1/8 &

22

. BT FENTSIT S BT AT oo A glaT g |
a) ded

b) 83X

C]W

d)5g

23

fafRrse arecd 1.3 aTel el T LTI 0.0034 Ns/m? AT 97 & | SHRT EEIITAH QT m2/s T §:

a) 2.6x 10°
b) 4.4 x 10°®
c) 5.8x10°
d) 7.2 x 10°®

24

Q = KA(t1-t2)/x 3SUTAT UaTg W01 3, '/ (kA) Y STTCaR (ol STl &

a) ardia wfAder & & A
b) ardr aquiies & & H
c) AT FETerRl & €9
d) 3SOTET 3T Ui

25

T gTgiToreh U &l 3.5 MN 8T ofll ¢ & I T g 99 & H9L7 2 & Farer I & ST st o ggn
T el & | R A wferarer 85 TR 3 E=210kN/mm? &1 X8 T Ure gla,

a) 160 AT
b) 161 THT

| ¢) 162 FAeY
| d) 165 THAT

e oot YReIRI & et 1000 TaIT Tt oY aTereT 21 FaTer AT T © Wt horer e g &

a) 1ECH
b) 10T F
¢) 24EC T

d) 12 T¢I
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20 Rain drops are spherical because of:
a) Viscosity
b) Buoyancy
c¢) Surface Tension
d) Atmospheric Pressure
21 4= ATET =g, then a is:
lim———
=S x*=Tx=10
a) -3/8
b). 0
c)-1/8
d). 1/8
22 Discontinuous chips are formed during machining of:
a) Ductile
b) Brittle
¢) Hard
d) Soft
i) 23 Viscosity of a fluid with specific gravity 1.3 is measured to be 0.0034 Ns/m?2. Its
kinematic viscosity, in m?/s, is:
a) 2.6 x 106
b) 4.4 x 106
c) 5.8x10°6
d) 7.2x10%
24 In the heat flow equation Q = kA(t1-12)/x the term 'x/(kA)" is known as
a) Thermal resistance
b) Thermal coefficient
c)Thermal conductivity
d) Heat transfer coefficient
25 A hydraulic press exerts a total load of 3.5 MN. This load is carried by two steel rods,
supporting the upper head of the press.the safe stress is 85MPa and E=210kN/mm?
Diameter of rod will be,
a) 160mm
b) 161mm
c) 162mm
oy tesmm — ———
26 | One ton of refrigeration is equal to the refrigeration effect corresponding to melting

| time of 1000 kg of ice.

a) in1hr

{ b) in10hrs

¢) in 24 hrs

|d) inf2hrs

Technical Assistant December, 2016
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27

(g ]

=5 ] F e s AT &

a)-6,-1
h) 6,-1
c)-6,1
d) 6,1

28

] 7 A— & fau s gl

a) el g & BN Y SR a8T Flat

b) foell fogs o & &1 2y TR 5T et

¢) ¥ & ORY AR Tag & e 3K qaler e
d) T & 3 31 aRsanor et

25

Log 2(1/128)?

a)-7
b)-14
c)14
dy7

30

FovreTTariara 7 ailer ol TR 3mretic o N fareRoT 3 Tan &2

a) WE%?JT
b) 3feridRa et

c) WWW
d) arefeos It

31

ara_tjﬁrqﬁwmmaﬁmaﬁm?mwa@mwms@ﬁwmwam
ws :

a) Il

b) Eefaer

¢) ST

d) 3Taae™

32

T d159 AT 118 350 kN T Afifed HR arell &, o) ST AT 3978 Ficrael 210 MPa Sollieee Ul &
u oS & 318 o §Y, 3T S A SUTH §:

a) 85 T
b) 104 FAAT
c) 72 fA#AT
d) 92 THHT

33

fRrerel & et sfastanTer (1) 31 m/min ¥ e afy & fT @eUE,

a) V'T=C
b) VT*=C
c) V/T"=C

) v/r=C

Technical Assistant B December, 2016 |
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27

! g0
Eigen Values of [ b ] are
-6, -1
6,-1
-6,1
d) 6.1

O T D
S

28

Reaming is the operation of.

a) Enlarging the end of a hole cylindrically

b) Cone shaped enlargement of the end of a hole.

c¢) Smoothing and squaring the surface around a hole.
d) Sizing and finishing a hole.

29

Log 2(1/128)?

a) -7
b) -14
c) 14
d) 7

1

Which of the following errors are generally distributed in accordance with the
Gaussian Distribution?

a) Controllable errors
b) Calibration errors
c) Avoidable errors
d) Random errors

31

Conic section obtained by cutting a right circular cone by a section plane inclined to
the axis of the cone and cutting all the generators is:

a) Circle

b) Ellipse

c) Parabola
d) Hyperbola

32

Wrought Iron rod is subjected to a compressive load of 350kN in order that the
allowable unit stress may not exceed one-fourth of the elastic limit which is 210MPa,
then diameter of the rod is:

a) 85mm
h) 104 mm
¢) 72 mm

d) 92 mm ol

)

)
lc) VIT=C
1d).

The relationship petween tool life (T) in minutes and cutting speed (V) in m/min is,

VT =C
VT =C

a
b

C

yir=6

December, 2016
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34

&t SRT 9X forrd e &t aehfelar 3rar fsiCeiar 8w Heitr Haifere ¢

a) V(P/ENV*I/2=r/2
b) V(P/EN)*I/2=n
¢) V(P/El)*2l=n/2
d}\.’(P/EI)*I:n/Z

35

AL &l hifAe Gara a8 GaTd &

a) Toreah U aer alel £ @l &.
b) oI FOX el A a1 STaT g
¢) Foraes FUT el aTey & AT &
d) fore# wsft Nt =vor v eI AlSE gl &

36

fra o 31 @ Fla-a1 R Al gefary :

a) 111
b) 1.2
¢l 2l
d) 10:1

37

T 7 3 FaIT ST aTelT gagT et & 3iaX 2.5 o MR geife &, 36 fafise yecaredory

a)l
b) 5
c) 6
d) 9

38

W y=x+3 3R T y=5-x T Afcredes fag B:

a)(-2,1)
b)(2,1)
c)(-1,2)
d) (4,-1)

39

TR o & #le-81 gerge Havet ¥ org faeraret ot o ofeTe & fT 3ueeor T A2 & aw # e
e e &l

a) TG 1l

b) AETRAT

¢) TRRLEET
d) ddeaeherar

40

Ea)m@ﬁm

o 3T e T T 3T BT AT s EE—

b) 3¢ &M
c)'ﬁq =
d) ¥qie i

December, 2016
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34 Euler's buckling or crippling load relationship for both ends fixed corresponds to:
a) V(PIEI*l2=Tr/2
b) N(P/EI)*/2=Tr
c) Y(P/El)*2l=11/2
d) V(P/EN)*I=11/2

35 Critical pressure of a liquid is the pressure:
a) Above which liquid will remain liquid.
b) Above which liquid becomes gas.
c) Above which liquid become vapour.
d) At which all three phases exist together

36 Which of the following represents reducing scale:
a) 1.1
b) 1:2
c) 2:1
d) 10:1

37 A piece weighing 3 kg in air was found to weigh 2.5 kg when submerged in water. Its
specific gravity is,
a) 1
by 5
c) 6

i d) 9 S

38 Intersection point of line y=x+3 & parabola y=5-x?is:
a) (-2,1)
b) (2,1)
c) (-1,2)
d) (4,-1)

39 Which of the following gives an idea about the ability of the equipment to detect
small variation in the input signal.
a) Readibility
b) Accuracy
¢) Precision

| d) Sensitivity

The operation of Smoothing and squaring the surface around a hole is known as:
i a) Counter sinking
‘ h) Counter boring
| ) Trepanning
|d) Spotfacing
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41

100 &Tef aret ua FEUX IR 3 wRT 31X 25 &Tet arelr Ueh 12 gAdn &, Sl A1 i & YT veh ot & St
&5 B | S7STT T Uehy e G0 e o o 25 ETef atel 2 ahY foictel Teret ereTied gl

a) 4
b) 5
c)'3
d) 10

42

(1MSD = 0.5 mm) & 24 WHIITT & H12 AT @it dtet afeiar YA 9T 25 37791 gorey Afeep afetay Fead &
frFatera 13 glare:

a) 0.05mm
b) 0.01 mm
) 0.02 mm
d) 0.001 mm

43

m X 2m G & &Y 39arg 2t AT HATT I ]aTeni el 31 | Ffe; gosh SUFg bl 9T VO §, 7r 918 39915
T &7 et &2

a) 1/2vo
b} VO
c) 2v0
d) 1/4V0

144

. T.uA, &, AT @iEer & g d 997 aiger

a) 90° A gl g
b) 90° HHEATE
¢) 180° AT gl
d) T A T

45

e 2 H.x2 HY. 36 3 eIl IATRR a1 3 2.5 HIE 32T ofeh qrefl (p=1000Kg/m?) TR | e & ST il
4.9m/s? FEATHY F9Y T 3T 0T Ui RRaT ST, Y ST & diel UR fhdelT aaTd arem?

a) 9.81 FdT
b) 19.62 &UTT
¢) 36.75 HUT
d) 29.40 4T

46

TR Qfeh T3l a7 let |1 19T 3l oY Rbeele & Tehell § HIX T61 915 A Red FXATE?

a}FB?fET
b) Hithe
NEGED
d) &1

| 47

oA el AR T 3 oI e el A Fgeeh &

EIEGIET
b)u=TEEST
DR IE TS
| d) rsTefsir
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41

the centre lines of both gears being joined by an arm. How many revolutions will be
made by gear of 25 teeth for one revolution of arm

OO o

5 e e
W o

d) 10

A gear having 100 teeth is fixed and another gear having 25 teeth revolves around it,

42

The least count of a metric vernier callipers having 25 division on vernier scale,
matching with 24 division of main scale(1MSD = 0.5 mm) is

a) 0.06mm
b) 0.01Tmm
¢) 0.02mm
d) 0.001mm

43

Two satellites, of masses m and 2m, are on the same circular orbit around earth. If
the velocity of the lighter satellite is Vo, what is the velocity of the heavier satellite?

a)

b) Vo
c) 2Vo
d) 1/4Vo

44

In S.H.M., the velocity vector w.r.t. displacement vector

a) leads by 90°
b) lags by 90°
¢) leads by 180°
d) are in phase

45

An open rectangular box of base 2m x 2m contains water (p=1000Kg/m?* ) up to a
height of 2.5 m. If the box is imparted vertically upward acceleration of 4.9m/s?, what
will be the pressure on the base of the tank’?

a) 9.81kPa
b) 19.62 kPa
c) 36.75 kPa
d) 29.40 kPa

46

1 d) Tang

Which portion of a taper shank drill prevents drill from sliprbfing and thus ensures a
positive drive.

a) Sleeve
b) socket
c) Neck

1 d) Sherardizing

An oxidising process used for Aluminium and Magnesium jobs is called:

a) Galvanizing
b) Anodizing
c) Parkerising

Technical Assistant
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Cole T2 & I T

a) ST 81T 3Tl =T

b) 3TeRTel FATATST et

¢) 9lfeR 3T Fu=r JaTea T
d) ST T &l

49

10,000 J/s $TYE 9T S T3 3 kw HIFCYE AT €, Al SToTet Y Eatem g

a) 20%
b) 30%
c) 70%
d) 76.7%

50

gl 97 BT 3 HeTHR 500 N ST T Teh HevaT IR eTCehral 1T 61 AC
3R BC ART &7 deira 71l HITe .

a) 433N & 250N
b) 250N & 433N
c) 233N & 433N
d) 333N & 643N

#B1 7

dieret # g &

a) 70% draT 3T 30% SrEdr
b) 70% dtar 3T 30% fe=T
c) 30% disT AR 70% STEAT
d) 60% dtar 3T 40% &t

52

oA TaITet 1 2 et €l Pvor ATt v &

a) &Hel

b) f3argst

¢) HIgeT dI{

d) TITE WA

53

Y TG IR T (o1 & STeTHIR, ST el <[oeb 3141 o7 Tl TR TET SATeHl , SoTehl bt arerattat 3R

T eaTeT: FHITIIAH G &
a) STl 1 fovaa

NEIECECIAGEE

) FT-o[ETeR &

d) greg &1 AT

54

| d) faspfa sramsa

7 2 eTell 3T EIS @ oY % I ded 9 ed SR eIy

2) FRfYET yess
b) gTFE HATZH
c) e aremse
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Function of plain washer:

a) To provide bearing area

b) Adjust the gap

c) To absorb shock and vibration
d) To provide cushioning

49

If a heat engine gives an output of 3 kW when the input is 10,000 J/s, then thermal
efficiency of the engine will be:

50

A 500 N weight is suspended by flexible cables as shown
in figure alongside. Find the tension in wires AC & BC.

a) 433N & 250N
b) 250N & 433N
c) 233N & 433N
d) 333N & 643N

51

Brass contains:

a) 70% Copper and 30%Zinc
b) 70% Copper and 30% Tin
¢) 30% Copper and 70% Zinc
d) 60% Copper and 40% Tin

52

Which one of the following is an angle measuring device

a) trammel
b) divider

¢) sine bar
d) angle iron

53

According to which law all perfect gases , When the pressure of a dry gas is held
constant, the Kelvin temperature and the volume will be directly prportional.

) Joule's law

) Boyles’s low

) Gay-Lussac law
d) Charles’s law

a
b
&

A taper provided on the pattern for its easy and clean withdrawal from the mould is
known as:

Machining allowance

c) Shrinkage allowance

_| d) Distortion allowance

a)
b) Draft allowance
C)

)
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55

TS T T FAeae e I AL, v galfelr 3maeae g

) AT TATAIAL TIHT T Teh HT

b) BT T o3t 7 weh He 3N FRAAIR {3 7 T Te
) THTEATC STaT3HT a7 Ueh e 3 AAAT A3t hr e HE

d) FHTATAY {1 & T de

56

I 3507 31T 100% AT G&TaT UTcd Sl §, A 98 Ieeite il o

a) ATRTTEhTT & SR feraa &
b) ATqaTTaRrT & v feras &
o) Arqarfad & gfad A &
d) 3uerct @efl ot &1

57

T qeTey i SeHSTIIcAGAT Bl & :

a) 1o HA

b) 1 o TS
c}lﬁﬂﬁlﬁ

d) 39T A I A

58

T T Ueh VHT HA § For R gt feterer ... {1 e

a) TYeAdH
b) 3f8waH
o) FT

d) ST & @ IS LN

59

afeie) e uisRar pvn= fEerie #, 3 n=l GICIETIRSEI

a) HIGEIRIR
b) 3TEEENE
¢) JEEIYHA
d) ufzamsfes

60

Fier-T He U TaIviT Ra7et &7 ooy el & §?

a) 12,16, 20
b)9,5,6

¢} 6,10, 8

d) 15, 25, 20

61

3iTeNds 7 WCS &I FT HRE &7

a) World Coordinate System
b) World Configuration Style
¢) White Circle Sign

d) White coordinate system

g , 1 .
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55

When proving that a quadrilateral is a trapezoid, it is necessary to show.

a) Only one set of parallel sides

b) Only one set of parallel sides and one set of nonparallel sides
c¢) One set of parallel sides and one set of congruent sides

d) Two sets of parallel sides

56

If a heat engine attains 100% thermal efficiency, it violates

a) Zeroth law of thermodynamics
b) First law of thermodynamics

c) Second law of thermodynamics
d) All of the above laws

57

In Grey Body, emissivity is:

a) Less than 1

b) Equal to 1

c¢) More than 1
d) None of these

58

Principle plane is a plane on which the shear stress is

a} Minimum
b) Maximum
c) Zero

d) None of the above

59

In the polytropic process pv™= Constant, if n=| the process will be at,

a) Isochoric
b) Isobharic
c) Isothermal
d) Adiabatic

60

61

Which set does not represent the sides of a right angled triangle?

a) 12, 16, 20
b) 9,5,6

¢) 6,10, 8
)

d) 15, 25, 20

What is the meaning of WCS in AutoCAD?

"a) World Coordinate System
| by World Configuration Style

c) White Circle Sign
d) White coordinate system

Technical Assistant
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62

a) I/M=ffy=E/R
b) M/I=ffy=E2/R?
¢) M/1=f/y=E/R
d) M¥/I=f3/y=E/R

63

U ETHYTET & HAET BT &

a) 102 W
b) 550W
¢) 75W

d) 745.7W

64

T TovehTa ol T 3 T g aed ST | e & QAT & v X GRT GIHT HHTT A
EIREREECIERIRECEH

a) 45° 3T 90°

b) 45° 3iIT 135°
¢) 60° 3R 150°
d) 30° 3 135°

65

6 He & HTE & ST e AR A B AT Y 357 ey Talg 91K 12 kN §| SehT JFToreey JFgairar
60 TR e 31T 150 e e §1 g ety repemmar o fAfarse aifrehcar g faeer fohetetm 62

a) 80 TAUT
b) 120 TAYIT
¢) 40 THUIT
d) 100 TAYIE

66

el Hqot 3reTeirsetar cier valg & AT Sefell 1 §HieToT:

a) Z + pfw +v¥/2g = FEerian
b) Z + p/w - v¥/2g = TEUTH
¢) Z-p/w +v/2g = FEaTie
d) Z - p/w - v¥/2g = Feuiw

67

e S T U TTOITdl 19T THHET Bl &

a) 25.4mm

b) 0.254mm
c) 254

d) 0.0254 u

Technical Assistant ] 20 7 - .Dece]?@@l 2% 6 -
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62

The bending equation is written as

a) I/IM=fly=E/R
b) M/I=f2ly=E?/R?
c) M/I=fly=E/R

d) M%/|=f2ly=E%/R

63

One Horsepower is equal to:

a) 102 W
b) 550W
c) 75W

d) 745.7W

64

A body is subjected to a direct tensile stress in one plane. The shear stress is
maximum at a section inclined at ------- to the normal of the section:

a) 45° and 90°

b) 45° and 135°
c) 60° and 150°
d) 30° and 135°

65

A rectangular simply supported beam over a span of 6 m is subjected to central
point load of 12 kN . Its cross section is 60 mm wide and 150mm deep. What is the
maximum bending stress induced in the beam section.

a) 80 MPa
h) 120 MPa
c) 40 MPa

d) 100 MPa

66

According to Bernoulli's equation for a perfect incompressible fluid flow:

a) Z + plw + v?/2g =constant
b) Z + p/w - v?/2g =constant
c) Z - plw + v?/2g =constant
d) Z - p/w - v32g =constant

67

Technical Assistant

One millions of an inch (one mil) is equal to:

a) 25.4mm

by 0.254mm
c) 25.4 |

d) 0.0254
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68 1000kN/mm2 GHERET &

a) 1x10° THAIT &
b) 1x10° THAUIT &
¢) 1x10® THAT &
d) 1x103N/mm2 &

69 R e Fafedelt 3 3THIY, 100 H6/gS T 3MRT &:

a) g FRUTraTT IS 6 AT H AU s

b) dIFe & AT HeTAT As 6 T DF H AU s §

o) e FAvEETaTds 4R dW B3 7dF ¢
dfEFRraeagardssdsamAre H w3 @7

70 | PrAfafaa 7 & e e wgrge

a) HATITA WY, Seareyar e, 3cdeT, fawerar
b) SreaTEAT HHT, AT Tcieh W, 3ot fAwerar
¢) 3o, HATUTTeh T, Fearerar, fawerar

d) ST AT

71| 2 mm? ST SIS ST AT 12 N S T U X 319%) € 35 TR & 3ot Ecicl £ W oI ahefl ¢
afe 30 a i HFaH dars 36% REa @ 0.6mm A AL §, ST6T E=150 GPa

a) 25m
b) 45m
c) 30m
d) 20m

72 aaaﬂéaﬁﬁatw.tﬁ.%m@ﬁmmwﬁmﬁtﬁ.%aﬁaﬁfﬁmmammaﬁmw
Al eed ... AU AT &

a) ofid wex
b) XU T
¢) A R HT T
d) ST 3R &1 7T

73| sk afeder # aifa 3o Afese ey duRT i aRoA gl ¢

a}éﬁﬂ@ﬁﬂ?&fﬁ?m,méﬂﬁéﬁ?ﬁgaﬂﬂml

b) 31e2r e FaaT, RFet o) &l Ferd, TG ST, Soieis S gl |

| ¢) 3R T VT AR 8 AT FAFCTS AHT G|
d)%@ﬂ@ﬁ&@@%ﬁﬁ,%ﬁ%&ﬂﬁ%%ﬂ&ﬁamﬂﬁwsﬁ?{@wml

- e B -
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68

1000kN/mm? is equal to: ]

a) 1x108 Mpa
b) 1x10°Mpa
c) 1x10% Mpa
d) 1x103N/mm?

69

According to Indian standard specifications, 100 H6/g5 means that:

a) Tolerance grade for the hole is 6 and for the shaftis &
b) Tolerance grade for the shaftis 6 and for the hole is 5
c) Tolerance grade for the shaft is 4 to 8 and for the hole is3to 7
d) Tolerance grade for the hole is 4 to 8 and for the shaftis 3 to 7

70

Which of the following is the proper sequence?

a) Proportional limit, elastic limit, yielding, failure
b) Elastic limit, proportional limit, yielding, failure
¢) Yielding, proportional limit, elastic limit, failure
d) None of the above

|

An alloy wire of 2 mm? cross-sectional area and 12 N weight hangs freely under its
own weight. The maximum length of the wire, if its extension is not to exceed
0.6mm. Where E=150 GPa

72

When an object is cut by a section plane parallel to H.P. and perpendicular to V.P.
then the sectional view of the object is obtained in

a) Top View
b) Front View
¢) Left Side View
d) Right Side view

73

Too high welding current in arc welding would result in:

a) Excessive piling up of weld metal, poor penetration, wasted electrodes.

by Excessive spatter, under cutting along edges, irregular deposits, wasted
electrodes.

¢) Too small bead weak weld and wasted electrodes.

| d) Excessive piling up of weld metal, overlapping without penetration of edges,

wasted electrodes.

i by 1 A LI R
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74

AT U 9 7 e 3refier wone & fore yaier 1 e arell 948 &1 U

a}?ﬂﬁ'ﬂT@g
b)aLE IS
o) Afgen 9

d) ACME 95

75

ferer frferar sifaRerst 7, ahe o Qe3ne 71 FRra 1 Aiters wgaTerst gl & 3iIX e Tarfed a3 ATeend# g sidr
&2

a) Fellgd
b) U8
C)W

d) IRINE

76

1:4wﬁmmﬂmmmﬁzﬁaaﬁﬁaﬁ$mwm§la’rsﬂﬁ%‘@aw‘fﬁwm

77

TR gere iy amend gedar H aRanfa fFar s g

a) ATSa 7 gea T e fer & et hr Fregar
b) ST #el TR ITecf St T A1aarar

¢) deTe A g TUTT faehfer & e dr @ar
d) 39 el

78

100N TR & ueh [ 5 N Al ot e o et 10 201, 1 gl & qeFd &0 & PRar | & Mg ar
SOTTell AeTel U I 3el:fhar g

a) 1000 Nm
h) 1050 Nm
¢) 950 Nm
d) 50 Nm

79

3SR Gef (ETEIq) T IeheeT &

a)>1
h) <1
c)0

d) 3TH U IS A6
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74 Type of threads used to take high axial thrust in only one direction: ]
a) Square thread
b) Buttress thread
c¢) Metric thread
d) ACME Thread
75 In which milling operation the chip thickness is minimum at the beginning of the cut
and reaches maximum when the cut terminates?
a) Climb
b) End
c) Face
d) Conventional
76 Two particles with masses in the ratio 1:4 are moving with equal kinetic energies.
The magnitude of their linear momentums will conform to the ratio
a) 1:8
b) 1.2
c) V2 :1
d) V2
7T Malleability of a material can be defined as
a) Ability to undergo large permanent deformation in compression
b) Ability to recover its original form
c) Ability to undergo large permanent deformations in tension
d) All of the above
78 A body of weight 100 N falls freely through a distance of 10m against an
atmospheric drag force of 5 N. Considering the body as the system, the work
interaction is:
a) 1000 Nm
b) 1050 Nm
c) 950 Nm
d) 50 Nm |
79 Eccentricity of ellipse is:
a) >1
by <1
c)0
d) None of these

25 T i s
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80 | e &RifieT & url oY Ul & et e su Y 2 et ant i Farg el B frafaf@d el
a) 27.2 9y
b) 50 HHT
¢) 52 FaY
d) 13 F#Y
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80 If mercury in a barometer is replaced by water, the height of 2 cm of mercury will be

following ... ... oo o cm of water

a)27.2cm

b) 50 cm

c) 52 cm

d) 13 cm
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